Supplement 1-2: Types of Rates

Silly Warm up:
Ron runs at a constant speed. He
starts 3 miles from home, and runs 6
miles farther from home every 2 hrs.
- What is his average speed?
- What would the graph of Ron’s
distance traveled look like?
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Now consider the graph of distance Big Question: How can we estimate

given in the lecture pack.

Lesson 1 in reading graphs

speeds from a distance graph?

Specific Questions: What is the

- Read the description (twice!). average speed from ...

- What are the variables? (Label) a) ..t=0tot=10

- Make a table of a few values. b) ..t=0tot=70
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Graph Terminology and Facts
- Asecant line is a line through two
points on a curve.

- A diagonal line is a line through
the origin.
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Lesson 2 in reading graphs
- If given a total distance graph and
asked about speed/rates, get your
ruler out and draw lines.
Use points far apart and easy to
read to find the slopes of the lines.

- If given a graph that has
increments or rates, put your
ruler away. Read off values from
the data and use a table.




Warm up questions:

1. Find the overall rate of change

after 9 minutem
W
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Note: Overall Rate means starting
from wherever the graph starts (not
necessarily the origin)
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How fast does the temp rise, on

average, during the 3-min interval
beginning at t=4 min?
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How could we answer these?

3. Find a time at whichoverallrate of
change of temp is 25 deg per min.
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Find a two-minute interval during

which the incremental rate of

change is 10 deg/min.
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5. Find a three-minute interval
during which the temp rises by

150 deg.
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Supplement 3-4 (Reference Lines)

Temp vs. time for a chemical reaction.
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